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200 il 4l 2,295,000 1,779,000 516,000
210 A= M2+ 290,000 274,000 16,000
211 A TH 22 140,000 130,000 10,000
211-02 BRMAAHS 140,000 130,000 10,000
OJIEt YtHE 140,000
212 ABE4Y 50,000 44,000 6,000
212-08 JIEINE & 50,000 44,000 6,000
OSEEAIAMAXE 2204 50,000
214 A%l 100,000 100,000 0
214-02 =X R34 100,000 100,000 0
OREFUE 2% 4243 100,000
220 A= K 24+ 2,005,000 1,505,000 500,000
221 THALON2t 22l 2,000,000 1,500,000 500,000
221-03 TR A2 42 2,000,000 1,500,000 500,000
OLAZES ZRML B2+ 2,000,000
223 JIEt4- 2l 5,000 5,000 0
223-02 HA B YA 5,000 5,000 0
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SIHEAN EEY 2SS 22| 1,957,708 1,745,633 212,075
SH Y =23B222 223 1,957,708 1,745,633 212,075
AHotD AESH NE=ELP & 417,130 376,900 40,230
201 et d| 9,330 8,900 430
01 AR 22l ] 9,330 8,900 430
O AH&H Y AFE oM 150,0008 » 7= 1,050
OXNsHE) Ea72 40,000 = 45 1,800
OXsHE2D |XA 2244 1,400,000 * 1CH 1,400
BLA2Hel K& B2 30,0008 * 30 900
O AHAAE ¥ JHAZR HE 30,0008 * 9058 2,700
OAHAPWNS (EIINXH)ZLAMSES
370,000& = 1Y * 43| 1,480
202 o4 | 3,000 3,000 0
01 2Ll 3,000 3,000 0
OSHARANEEZYE SR8 |
20,000 * 5% = 30¢ 3,000
204 = 2 =8 A H| 394,800 360,000 34,800
03 EHYRAL| 394,800 360,000 34,800
O=2FHZA Helssy|
50,0003 * 658Y * 12& 394,800
207 O 4| 10,000 5,000 5,000
01 24| 10,000 0 10,000
SIIJIXIAN 8292 94| 10,000
NAHSZ24L L THEAZ &Y 46,890 47,490 A 600
201 B9 39,890 40,490 A 600
01 AP 22| H| 39,890 40,490 A 600
OZ Ao B A oY 40,0008 = 1108 4,400
OZUN % PENT o4
70,000 * 23 * 1208 16,800
OZALE Of AA Q1A 20,000& = 908 1,800
OZNMYWEAZ HRE=X A2 FE XL SAH|
7,0008 » 3% * 90 1,890
OZ2NMBAIRE = 150,000& * 5% x 20 15,000
202 04 d| 5,000 5,000 0
01 2L I 5,000 5,000 0
OZMAMN L HEALHL HLFF oY)
20,000 * 5% x 50 5,000




2N
X ZH -
L= B

el

=i ()

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
203 YR =&Y 2,000 2,000 0
03 Al Z=XIH R =X 2,000 2,000 0

ONYHME Z2HHES JRFXH| 2,000

HUEHP = 92,558 99,433 NG6,875
101 @121 22,850 24,069 N 1,219
04 JI2ZtH 22 XNEE % 22,850 24,069 A 1,219

OHS*UHEH A2 LE2 22,850
-J|23 1,098,000& * 1 * 128 13,176
-2 AZ 51,980& » 18 » 7 364
-&02 1,098,000& * 42| 4,392
—duZAY| 130,000& = 194 * 12& 1,560
===l ]| 1,098,000& * 1.2 = 1H 1,318
- ns2 Xy 130,000& = 1Y * 12& 1,560
-IExY 40,000 * 14 = 12& 480
201 et A | 33,388 35,364 N 1,976
01 AFR2 2t 2l Yl 33,388 35,364 AN 1,976
OH Sk 2ted HA ol 4y 7,300
~Jo B NESYA o
180,000 * 103 1,800
—SA.EG HUYAN oAy 7,000& * 5005 3,500
—2AE M U BHAA
200,000& ~ 108 2,000
OHLAR ¢ 70,0008 * 10¥ = 63 4,200
OxXg &2 20,000& = 4038 * 12& 9,600
OHAHLRE=X 0222 A 24|
7,000& = 8% * 110 6,160
OHAPLRH MMALADRE 2 6,128
-Telyg EYH #¢ 185,000  4CH = 43| 2,960
-SAMEX 7L 22,000& = 128tA « 12&8 3,168
202 04 b 5,600 5,600 0
01 2LHOHI 5,600 5,600 0
OAAUAR =X bl 5,600
207 S SO0 ] 30,720 34,400 N 3,680
01 A2 E49Y| 6,000 6,000 0
O3A & 22 AN 24
3,000,000& = 23l 6,000
02 & AHJH EHH] 24,720 28,400 A 3,680
OHLHLRE=X T2 S Y| 24,720
—Z2AHHZE 2 G2 T8 122l
750,000& = 12& 9,000
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-2 -




M 3

g 3HEN EHEW HEES 2

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—AETN CRH PEZeZEIY 2E o
S Xl 22l bl 660,000 » 12€ 7,920
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O=g8 2822 600,000 = 43| 2,400
ORFIDESAEXNEAIAMNY B0 2 6,870
-ct¥E B0 300 = 10,0004 3,000
— XFH X B 1,400& = 2,000H 2,800
-0=ZA E2Y0E 500 = 2,000 1,000
-2l 35,000& = 24 70
02 2% H| 36,000 36,000 0
O#a oX HHIR 24 L A +u
40,000 * 400%x 16,000
O X 8 =4 10,000& = 300X 3,000
OME d g =4 20,0003 = 250% 5,000
O9Xtote &, JtAE =4
30,0003 = 300% 9,000
Ol &8t =4 10,000& = 300X 3,000
405 XHAHF S HI 127,270 131,200 A 3,930
01 AL 2 ZF S| 127,270 131,200 A 3,930
OLE AIRES LN Y A7 2 121,000
~ARE By AR U BH PY
350,000& * 150% 52,500
-ARE I A € WA 2L
150,000& = 150% 22,500
- AR gy A7 2 Wi P
200,000& * 150% 30,000
- 8ANME A7 Y WA 800,000& = 2074 16,000
ORFIDEEE X EHOAMNY U 2L 6,270
-2l D] 2,090,000& = 3 6,270
22 xE 22 1,228,590 1,044,600 183,990
201 et d| 673,590 693, 140 A 19,550
01 AFR 2t 2| H| 8,640 8,640 0
O2da MU 252 2
50,000 = 60H 3,000
O2da MeWal &I 24|
7,0008 * 60YH x 24! 840
ozgxyd D=2 slolAIIE =H
50,000& * 804 = 12& 4,800
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-ess 1,000,000& = 3CH 3,000
-Ad"s=E 550,000& * 19CH 10,450
-=gss 780,000& « 6CH 4,680
-HEsts 1,470,000 * 7CH 10,290
O2EXE XsHAl 19,720
-A8S8 240,000& = 11CH 2,640
-=S8s8 450,000& = 9CH 4,050
-less 700,000 = 13CH 9,100
-5 428s¥ 100,000& =+ 22CH 2,200
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-=gss 50,0002 * 60K 300
-HEsts 80,000& * 7CH 560
O2EXE el 578,500
-A8&8 3,500,000& * 11CH 38,500
-=8s8 5,000,000& = 9CH 45,000
-lessE 6,000,000& * 130K 78,000
-5 - 428s¥ 7,000,000 = 22CH 154,000
-ess 10,000,000& * 3CH 30,000
- Ad"s=E 5,000,000& = 19CH 95,000
-Zgss 9,000,000& « 6CH 54,000
-tHests 12,000,000& = 7CH 84,000
OZEXtE AdLs =4S 960
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SEARINE 29 20,400 21,700 A 1,300
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~ZRMA S| Egaa
15,000& * 100A 1,500
- SSMAAMEHZAL 22X S A
7,000& = 38 * 100 2,100
-ZRMA 2Y 248
250,000 = 4521 = 204 D|2t 22,500
- SRMHY EE=xE 500,000& = 40A 20,000
- SFMA2E HAQIM 2,200
2AZ HUA L ABA 2
200,000& * 6& 1,200
EEE MT UM 5,000& » 2008 1,000
~WABYSR TREH 4279
185,000& = 401 = 53| 3,700
- SSME MAEHEAIE ARES ¢ 1,800
02 2324l 700,000 660,000 40,000
Oz332gHl 700,000
- Mol ==Hl & BH&aZHab 700,000
202 oddl 4,944 5,430 AN 486
01 = LH o4 1 4,944 5,430 A 486
O3=Ma gF =& 04| 4,944
—AsaBAR EF OlY|
27,0003 » 1.5€ = 43| » 12 1,944
- SS M HAEHEAF K44I
20,000& = 3¥ = 50 3,000
EArz2tel 2,030,548 1,898,068 132,480
& Atztel 2,030,548 1,898,068 132,480
HALAIEE .2 A 255,000 196,500 58,500
401 A& HIZ 201 8] 255,000 196,500 58,500
01 A& HI 255,000 196,500 58,500
OXNHESEMEL =XE ZESA 25,000
OQJEFA &5 SXEH TEIA 40,000
QIAHEA S S A 40,000
OLUJEA 55 LI WM B A 150,000
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101 @14 dl 108,023 95,757 12,266
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SNEETES T 1,030,601
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200,000% * 34 * 128 7,200
~EAMN THHIXIZ OIS4 2tot0] ¢
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—EA 3t RA 228 900,000& * 69 5,400
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- A A 114,423
U= 61,299,000& = 1H 61,299
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= 8,754 » 217 = 25A12t « 128 569,886
= 7,860& * 121H » 25AI12t » 123 285,318
- 93 7,1043 « 98H = 25A12F = 12& 208,858
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02 JIEHR 2+ 1,025,934 1,007,641 18,293
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-=2 707,700
- 1548 0|gt 2,173,400& » 8% » 128 208,647
- 15649 0|4 - 30& 0O|¢gt
2,748,300& * 149 x 12& 461,715
30 0l &f 3,111,500& » 198 128 37,338
-3z 707,698,800& * 0.8/12 47,180
- NEEH X+ 8,960
nsstu 448,000& * 5 x 43| 8,960
-E=g 80,000& * 208 = 12& 19,200
-Z32xg I3 24,600
253 0 & 130,000& » 5 » 12& 7,800
209 0] &+-25 0] &t
110,000& » 6H » 128 7,920
- 158 0] &-20 0 &t
80,000& = 4% ~ 123 3,840
- 108 0l & -15 0] 2t
60,000& * 2% » 12& 1,440
- 58 0l &-104 0| 8¢
50,0003 = 6Y ~ 123 3,600
A= DN RS 2,160
- HE 50,000& = 1 ~ 123 600
g 40,0003 = 1¥ = 123 480
TNy 30,000& = 3H = 12& 1,080
- el st 50,0003 * 2398 = 12& 13,800
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-53 250,000& * 2909 = 12& 87,000
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101 2121 4| 62,423 32,690 29,733
03 2IHAZZ2XHE %= 62,423 32,690 29,733

OF AN L0182 34,695

-Ja2 1,412,000& = 1Y = 128 16,944

-4&03 1,412,000 ~ 43 0| 5,648

-2 A= 64,000& * 1¥H x 7L 448

- HZAH| 130,000& = 1Y * 128 1,560

—NZe 2L

8,000& * 1.5 = 1H * 40Al2t x 12& 5,760

-Y &SIty 1,412,000& = 1.2 » 1H 1,695

- WES XH| 130,000& = 1Y = 12&€ 1,560

-Itss4 20,000& = 1Y » 12& 240

==l 7,000& = 104! x 12&€ 840

OFAIZZ & L= 300

-&gs 250,000 = 1=t 250

- &5t 50,0008 * 1= 50

OZ2s a2z 2ol 27,428

-J|23 1,230,000 = 1 x 128 14,760

—dHZ A 130,000& = 14 * 12& 1,560

- nWE2XH| 130,000& = 1 * 128 1,560

-J|Z4 1,230,000& * 1¥H x 42| 4,920




S RECI ()
FM: HH2LZH (S H D)
Crel: elet2 oyl (31D (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- ZF0tdl 1,230,000& » 1H » 1.2 1,476
-EE 80,000& = 1& = 123 960
—CItEA 3 57,040& » 7<) 400
- NHEH X+ 1,792
nsstn 448,000& * 1% = 43 1,792
JlE3l 95,790 115,666 A 19,876
JlE2&l 95,790 115,666 A 19,876
201 L2l 28,470 34,906 N6,436
01 At 22l 26,970 33,406 A 6,436
OJIZ2AE 83l 12,150
OJIEt==EHI 8,100
OO0kt & S22 SAHI 6,720
02 2324l 1,500 1,500 0
O HZAHESRE MEBESIIY BE& 1,500
—JIEH(FIt & HEZ2) 50,000& * 309 1,500
202 oddl 61,920 75,360 A 13,440
01 SLHOIYI 47,520 58,080 210,560
OZUHE(ABS odbl) 47,520
02 M0 14,400 17,280 A 2,880
OSHOHI(2EIIAL)  200,000% * 6 * 12& 14,400
203 &R E A Y| 4,200 4,200 0
04 NI 4,200 4,200 0
ORAN2EYE=AHI 350,000& = 123 4,200
204 MR I 1,200 1,200 0
01 AMsSHR=8 A 1,200 1,200 0
OBE =MZ P2+ AY|
100,000& » 1H » 128 1,200




